890 DUKE R 2021 <2021><US><F9775U3>

ACCESSORY PACK
55691
. &
fe )
| v '
£ &
v 4
l -
@ 5
(A
; P
(&
<
OHNE ABBILDUNG TECHNISCHE DOKUMENTATION
WITHOUT ILLUSTRATION TECHNICAL DOCUMENTATION
DOCUMENTACION TECNICA
DOCUMENTATION TECHNIQUE
NOTE TECNICHE
Pos Part Number Description Additional Text Quantity

0 6410304803333 Rear footpeg bracket, left cmp 1.00
0 6410304903333 Rear footpeg bracket, right cm 1.00
0 00250802568 HH COLLAR SCREW M8X25 TX40 2.00
0 0025080406S Collar screw M8x40 ISA40 SS 2.00
0 64107047033 Passenger seat cmpl. 1.00
0 69008021160 special screw M5x12 2.00
0 61312040300 Mirror left 1.00
0 61312041300 Mirror right 1.00
0 64112008100 Pillion Handle Bar 1.00
0 0035080506S AH collar screw M8x50 ISA45 4.00
0 64108023010 Splash protection 1.00
0 54603048600 RANGE CHANGE METAL NUT M5 INOX 2.00
0 0081250181 SCREW FOR PLASTIC 50X18 T20 2.00
0 312305 DOCUMENTS BAG 2006 1.00
0 312313 KTM BALLPOINT PEN ORANGE 1.00
0 00063004202 PRINT LABEL 60X51 MM 1.00
0 3210917 NOTEPAD 1.00




0 20180189INT Sticker accessory kit 1.00
0 00063004012 HEADLIGHT MASK BOX 1.00
0 20180195INT KTM Bypack Folder Street 1.00
0 00063004106 SPIRALHULSEN LC4 + LC8 2.00
0 00063004108 Bubble wrap blanks 80MY 2.00
0 61408015030 METAMOLL F. TAIL LIGHT COVER 2.00
1 3214303EN Owner Manual 890 Duke R US'21 1.00
29 63629099000 Tool set 1.00
30 76029063000 RING WRENCH SwW27 1.00
31 60012060032 RING WRENCH 32MM 1.00
32 60012060000 GRIP FOR RING WRENCH 1.00
34 75029072000 SPARK PLUG WRENCH 1.00
35 60029070100 T-WRENCH WS=6/8/10/17 1.00




